Let us put J = 1.
The eigenvalues of the transfer matrix are:

7. (3,B) = €’ <\/€‘45 + sinh?(8B) + cosh(ﬂB))

7_(8,B) =¢” <Cosh(BB) — \/e“m + sinhz(ﬁB)>

The partition function reads:

Z(N>B7‘B):T+(ﬂvB)N+T—(63B)N (2)
and the magnetization M (N, 8, B) = %83 log(Z(B, 3, B)) is:

e=BN sinh(8B) <<eﬂ <cosh(53) — e+ sinhQ(ﬁB)>>N _ (aﬁ <\/e4ﬂ + sinh?(3B) + cosh(BB)>>N>

\/6*45 + sinh?(6B) <<cosh(6B) - \/6*4/3 + sinhz(ﬂB)> ' + <\/e4ﬁ + sinh?(BB) + Cosh(ﬁB)) N)
(3)
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Figure 1: (1): magnetization at 8 = 0.2, N = 10,00 as a function of B €
(—20,20). (2): magnetization at 8 = 0.02, N = 10,00 as a function of B €
(—20,20). (3): magnetization as a function of 3, B at N = oo



